Knee Ratchet

Knee Ratchet

Fixed Link

Bed Frame shown
for reference only

fol/ l
Bed Frame shown
for reference only

/ a1 |
I S S S S 4 D I SRR S S S S _|
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A 026788-NLA | NLA - Knee Ratchet Assembly 1 1
2 025053-NLA | NLA - Ratchet, Leg 1 1
3 025071 Screw, Shoulder Hex Socket Head (3/8 x 1/4, 1 2
1/4-20)
4 000050 Nut, Keps (1/4-20) 1 2
5 027049 Support, Frame Cross 1 1
6 000037 NLA - Nut, Keps (5/16-18) 1 2
7 001741 Screw, Hex Head (5/16-18 x 3/4") 1 2
8 B 026111 Fixed Link Assembly, Knee 1 1
9 000790 Rivet (1/4 x 9/16") 1 4
10 026118 Link, Foot Bow 1 2

NOTE: A -Includes: Items 2-7.
B - Includes: Items 9-10.




